
dk-dtdds-tidctli-tofdsl.IN/tdYIltPds1
:

Fudan hyoids a 3T¥ b E- 2¥ 47
,
IM

3118Mt yet tisctie q sit r Unidad '

Pasa
= BE the ; 0 c- hab IT

2 Pds -EH 2 Yakuts 10196 a Ñk b % It
,

HCF (a. b) ✗ LCM (a. b) = a ✗ b

3 417kt that IÉ :

Az Eth HÉ Ñ Ice Tay ¥ Ñ<dT UT Html EF

3¥ 4194¥ ti<c# LET IT ( WET P d- a

4E3tn→ ¥ )

& UÑI- tÉ<ctttÉ AT 521nF ytik 4T dF " Hit

GMI Atik
" ETAT ¥ 4T Pint " staid silat

521nF 48
" {1%9}

(a) 4194T that ¥ AT

5214dd-YHK-tids214dd-yt-kd.EC#¥ #
,
Q IT 31m07

301460T 2h ✗ 5m 4T £ EF /
(b) 4194T titch ¥ AT 5214Mt Ytlk 31-2117

311¥ 5214dd-yt-kd.EC# % # a 95 31min47

301460T 2h ✗ 5m hit IT at EÉ /



ideas

1 PM) → d§4"i

d§4T It Uid → d§4T Plus tf u asf 3oydT

Utd dg4T It 41T dsEc# IT
FIT ideas → U tf 324J UIT = 1

NUIT idylls → U tf 3244T HIT = 2

ÑUlT Agent → U tf 324J UIT =3

2 Patt agent I 2µÑas→ Éa goÑaÉ tf that :
that agent asidtbn + c F- NUT tats

2k¥ a cia is ¥ af
,

2doÑds dst 41¥
,

✗ + B = Ia

2doÑds AT 3014mF
,
xp = §

3 tsf idgys IT Hoti ✗ d- P RI É NF

d§4F ⇒ K@ - (✗+ B) set XP]

4 INNIT eÑÑ*¥- :

tsf pic) d- gens dit 2 a§YT ¥ wet gin -1-0

EF DF est agent Else) 3T¥ rte ) II HILT at Hh→

EH ☒
,

plus = gin] ✗ EM) -1kW



¥4T did ÑÑdI HMAT

AT Eltham Ñ# ant by -1C = o IT 29T ¥ etta

Pdstt WI tldsdl EF
⇒
3¥ IT at ⇒ FIAT HMtÑ

diet HINT 97
2 test it at dici.IT?Ras-aMas2ol " that IoT "

at Ñaµ→ as# ¥ ,

3 TPE. 5¥ that Isd|z#• Is stiff. 9 , Rtb, Y -1C, = 0
I Agh + bit + Cz = 0 IT IT →

(a) YÑzi→ Totti/ tioid.IT/3lIAt-EeTeFFaA21d- →

I. * b.bz
(b) 2541¥ Indie / tint got / 3tyÑÑT 4T¥ 3m¥ eat
IF It aint → 9-

= I = G-
Az bz Cz

(c) HHI Tootie / Staind II/ affect def etat
at 214 → ¥2 = kg * ¥

u É
É I

told It UKT IT 3198T did It UKT IT YÑ&→
I = (nty) km/h aid = (n - y) km/h

5 HHT = Sit
⇒



NUIT 41474201

1 and -1 but C = 0 hat It HM-tsmd.LT ÑI

HANOIt.ec#eEtsP-k2dsTgoilas-2dotd.Te7(a -1-0)
2 NUIT HMAT 9522*5 = NUIT AMATI yet

3 t.FI: tih.la#dsFEcTdsLd- It ÑÑi →

(a) ojolokdos 197¥

(b) Lot asf a# It Ñ#

(c) NUIT tyl / Ñuuult- Gil : -

tent. → and -1 but C=0

Ect →

x-e-b-t.gg?-4aTD--b2-4ac
(D → Ñas2→

4 k¥ It yet : -

(a) SF Ñ→ dk-NRTEd-eijf.tl#b2-4ac > 0
(b) SF tltild dk-d.ii.IT Eat E9¥

,
4¥ 5- yac = 0

(C) dit dK-aÑg- Ect def IoT
,

# E- 49C < 0



HHI Ñ¥

1 the IET →

a + (atd ) + (a -12 d) + (a -13 d) + - - - - - + [a + (n-1) d)

a = YUI 457

D= tiidf.dz

d = A2 -A , = Az - Az = Ay - Az = . . . . . .
. .

2 n at 4T / 311¥ 4T →

l t an = a + (n -1) d

3 n 4¥ art 41¥
,

Sn ± 2- Catch -1)d)

Sn = 2- (atl )
4 # AP Is Not 4¥ at IoT 1¥ AQEIIAT 4T HÑo ⇒ a - d

,
a
,
a + d

s tsf AP Is ut 4¥ at IoT 1¥ I *
ET É ut 4T HÑo ⇒ 9-3d

,
a - d

,
Atd

,
a + 3d

6 t# 3 tiktiE-a.ba c AP HF EF NF ⇒
b- a = C - b b = 9¥

tE '

b' asf a d- C dst HHI Hht t.lt ⇒ ¥4
7 35T tf rail 4.7 = ⇒ ¥ (n -r -11) di 47



Ñ¥•a÷→ vtÑ→

I sit tff : -

• •

P@i.Y , ) Q 42,92)

PQ =

,
/ (Nz - n , )2 -1 ( Y, - Y, )2

2 Ñ÷ Host : -
•

MI
•

M2
•

PHY, ) R Q M. ,Ye)

§- r I Ñ%iT = (mk-m , m_+,)M
,
1- Mz

3 Hat Ñoj that : -
@ ② •

Pfl , ,Y, ) R Q 4k¥ )

H→Ñg- r I ÑF*iiT = (MEI , 42%2)
4 Ñy# dst Find :-

AH
, !, )

B µz,Yz) ( (% ,Ys)

y dst •Ñ¥4nd = 2- se
, §, - y,) + 424] - Y , ) -1%(4-92)



5 tiIhddT at 21T :-

• • •

A B C

( KY ,) Me ,Yz) (MID

Not ñ⇒→i(A.rs#cjI-t.iIoe-eTI-afaiI-→
ABC last time = 0

⇒ 2- 24593) -1%43, -9, ) -1442-Ys) = 0

⇒ 294593) -1%43, -Y, ) -1442-Ys) = 0



sin

cos

tan

cot

sec

cosec

0 30 45 60 90

IaiflPHI-dsTYRUIId.io/h?a7i-3tguld-:-
(a) Sino = CHI (d) Coto __ 3114T£

hot tha

µga-
hot (b) cost = 311TH (e) seco = ds#

Tot 311Th

Of (c) tano = CHI
31in any

(f) 6secO=YL
2 ÑaiolÑAt' 3tgul It tricot :

1 , , -

0 I ¥ ¥ 1

1 ¥ ¥5 £ 0

0 ¥ I V5 a

co V5 I ¥ 1

I ¥3 HI 2

oooo
2 T2 ¥ I

3 (a) sinsAt 6s2A = I

(b) I + t.com?A=secfA

(c) I + cotta = Casein



4 (a) tana = %;I-
(b) COTA = 6sA_

sin A

5 (a) SENA 1-
cosec A

(d) cot A Ia
(b) cos A 1- (e) See A 1-

see A GSA

(c) tana 1- (f) cosec A 1-
GTA Sina

6 sin (go
'

- A) = 6s A

Gs(90 -A) = sin A

tan /go - A) = d- A

cot @ O
'

- A) = tanna

Sec (90 '-A) = 6sec A

6sec @o-A) = SECA



4T Circles

1 47 IT Platt ☒gT yz-a.us#%d1pr
£42T Felt +42T Ñ←J. ¥
4¥ 01¥ IoT 4T chai

-
-
-• 0

etat ¥1 __oMtPQf
Q "

⑨ DIET ÑTI t.it ☒ 4T A

Lalit 21st +42T %d1→

It Chianti a<,→ If
P
•

•

¥1 =PA=PBTh✓ B



&:# I

sina.im#Ixuhd'Q-TdsT4xuhci-=n-r2r-sq-tItIm-
2 Et dit 4ÑÑ- = 2ñr

3 Ñvt→ (sector) :-

dig Fitbit at Fei = ¥0. ✗ a-i iki
INDOT

dyj PITT LOOTS IT drat = ¥0. ✗ 2ñr ••
0

360
'

- O
'

AI ☒Ñ LDOT dst Innit =
to ✗ ñef

.

^

stuff bots IT a =
¥0

✗ 2ñr Ctu
360' ÑvtLdOS-

4 447 (segment ) : -

didskidsyµ-
=

Ñ%d→

y, Egg,
-

☒

g-aidoslxw.ci"

*o
①

a-

A
,

B

toy
qtLd0T



yacht timid 31¥ 311¥

I Got Cube) : -

ai3dT It Ñ = a.

YANT Ñxuhd = 692

3111¥ = as §
"

2 UNIT (Cuboid) : -

dtdlt-l.us#=b.3Juif- = h h

yaAt-I-xmcT-2@btbhtlhJ.e-←
b

311¥ = lbh

3 Itoi (cylinder) : -

^

Ñvt = h
*,
Éu# = h

h

dia.yodi-titmci-2n-rhtltyof-Y.co#&xmd-=2n-
uh -12 a- el • - -

F-
- v

3114J = ñeidh

4 21°F ((one) : - !
I e

PITTI = h
*.
É=h

,

1¥ 55¥ =L hi
,

!•
- - - - - -d-igy-i.IE = a-al r



4¥ EH 5¥ = ñrl + a- et eft h' = 12

3114J =

g- ñeidh

5 2¥@phase) : -

ñ# It Ñ = r

¥
yest

I.im#--4n-r231Hdd---g4-n-r
6 31£iii. cii (Hemisphere) : -

strict af Ñ# = r

TH YANT

I.im#--2-n-r2HtyoiyaAt-I.xmd-=zn-i::..---@.-..31HdoT
= 2- a- is
3

7 21°F dst Botti (Frustum of cone) : -

←
El
-

n

5¥ yadt-I.int = a- Cathie

HtyofyaATÑ.im#--n-@,+rz)e+n-ef+n-ri h l

311¥ = j-n-frf-eyf-r.ee,)h •
!
- -
v

12 = (r , -r,} + h2 hi > he



Nikita
1 HIT (Mean) : -

(a) HAT TI.lu?- :-
g = EI

N→ Hits

Ef f → AKtd#

(b) 41%417 HHT ÑiÑ- : - I = At Efd
Tf A- → dsk#Hht

4¥
,
d = K - A

(c) not - Ñ# Ñt# :-

ñ = A + ({¥)×h
,
u = y-py-h-sddf3.ba#

h

2 Ascites (Mode) :-

again = l +

(f-)xh2 f
,
- fo - f,

l → again dot at Art that

h → dat 3todÑ

f
,
→ idgaf dot It idktctkdl

f. → again aof ¥ As ⇒ at It akram

fi → again dot ¥ Etas t.it#dTdAdKtAKd1-



3 Hlztds (Median) :-

(a) 3190114T 3Ña# dst His : -

t# n chain EF NF
,
tihtas = (¥ )th term

41€ n t.tn EF NF
,
tihtas = (E)

"
term + (hz-ifhte.im

2

(b) dÑ&T 3iidssT-dsthht-d.si -

tenth = l + (¥)✗ h

l → this dot at Ñ→ that

n → Ñµo It ti⇒

Cf → Hinds dot ¥ As ⇒ at It Ñ# Akram
f → Hhtds ddfdd-dkt.dk#
h → dat 3todÑ

4 4kt
, again 3¥ ninth ¥ train →

3 (HktJ) = idogcids + 2(Hht)


